Derivatives

Product Rule:

d( )= dv+ du
dx hid _udx 17dx

. Quotient Rule:

d uy  v(du/dx) —u(dv/dx)
=) = =
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. PowerRule: — (x™) = nx"1
dx
d d du
. Chain Rule: 24 = &t
dx du dx

f) = 1xl = f'@) =2

F(x) = sinx - f'(x) = cosx
F(x) = cosx = f'(x) = —sinx
F(x) = tanx - f'(x) = sec® x
f(x) = cotx - f'(x) = —csc? x
F(x) = secx - f'(x) = secx tan x

f(x) =cscx - f'(x) = —cscx cotx

f(x) = sinhx > f'(x) = coshx
f(x) = coshx - f'(x) = sinhx

f(x) = tanhx > f'(x) = sech? x

f(x) = cothx - f(x) = —csch?x
f(x) = eschx - f(x) = —cschx coth x

f(x) =sechx - f'(x) = —sech x tanh x

&

10.

11.

fO) =Inx - f'(x) =+
fOO) = logax = f'(x) =

xlna

fx)=e*-f'(x) =e*

Te)

— (e¥™) = d_u
dx dx

fx) =a*-> f'(x) =a*Ina

fO) = sintx - /(0 = =
fG) =cos™ x> f'(x) = =
f@) =tan™tx > f'(x) = —
f)=cot™tx - f’ (x)—1+xz
fO) = sec™ x = f1(x) = —==
fO) =escx = f1(x) = 5=

f(x) =sinh™1x - f'(x) = Jl_
f(x)—coshlx—>f(x)— iX

fO) =tanh™x - f'(x) = —

>1

f(x) =coth™ x> f'(x) = 1_1 2




